ol

B
%o

e
T

o

<
olJ

it

90 | 84 | 92
346 + 4 = 86.5 (A)

86.5 4

(]

(80 4 90 + 84 4 92) + 4




olJ

62|
83

52
78

43]

92

33

57

23]
86

13

(0]

7371

el
he

il

78.5 4

R
,.%D
10
o0
D~
Il
Ne)
._.
—
D~
<t
[l
+
N &
,mﬂoo
i+
~ 2
ok
T
(@)
anv..n_._l
ﬂm
- +
X
__ww
B s
o




tele FAES
o = SlFof B 600 mLE uHd Ut 6 Y 5ot oAl
o AL

A
=

6 A PHAl F4
FAl F=2 1 600x 6 = 3600( mL) = 3.6(L)




7ol 715 45 9] 7t
o] gt Aol B2 4 o]
AgH o] P2 33500 A J YTt %7% o]
-2 durdyzt?

> £ =
> HEe: 235750

o

=S xa%oﬂ% ZAE YT of |9} of )
© 2

golst 2vle] 3

z9 & & AFAe]

B
(7FE mEo] §A)

—(oH ], ojmiY o] AT A+ (27
=(438000 x 2 + 33500x 2)

= 876000 + 67000 = 943000(Y),

(@ 2 BF ABY) = (AF 2Y) = (F=%
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e

)




el F g e ot A AR Ay
G4y Hobo] July Hobmh W H4vt Erhd Hak Ha
e wrow Hea] ot e, (&, 8 2A1E 25 2@l L, 1299
48444t
Fr e
R e A e e ot L A
37 ()| 72[ 84160 | 88 92| 96 10080

R IR EIER
A2 (H)| 80 | 76 | 72 | 92 | 84 | 88
(=13 3|
=1

>
> &= 1004

(Fuv 2o B

= (72+ 84+ 60+ 88 + 92 + 96 + 100 + 80) + 8
=672+ 8 = 84(F),

g4y £9)

= (80+T76+72+92+84+88+] ))=492+[ |,
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